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General Instructions:-
}] i) All questions are compulsory.
ii) The question paper consists of three sections A, B and C.
iii) Section A is physics (25 marks ), Section B chemistry (25 marks) and Section C is

Biology (30 marks)
iv) Each section consists of 1 mark , 2 marks , 3 marks , 4 marks and 5 marks questions.

l v) Marks are indicated against each question.
vi) Internal choices have been given in each section.
. (SECTION-A) PHYSICS (25 MARKS)
4 1. The mirror which always forms erect image and is of same size [
I ‘ ~ a) concave b) convex
X ~ ¢) plane , d) any of these
| 2 Far-pmnt ofeye is at

b) 50m
d) Infinity

anation of the assertion.
planation of the assertion.




6. Name the type of mirror used in the following situations:

a) Headlights of car
b) Rear-view mirror of a vehicle.

Support your answer with reason.

OR AR
Light enters from air to glass having refractive index 1.50. What 1S speed of IlgI;t in
glass? (2)
7. Draw ray diagrams to describe the nature, position and size of imagé formed by a
a) Convex lens for the object placed at 2F,
b) concave lens for the object when it is placed between infinity and optical centre of the
lens. (3)
8 Why do stars twinkle but planets do not? (3)
- The far point of a myopic person is 80 cm in front of the eye. What is the nature and power
oﬁaﬂsmmeﬂ to correct the problem?
OR

oard white sitting in the last row. What could
fect. With the help of

)
mirror of focal length 15cm.
d in order to obtain a sharp

e hmmm in reading the blackb
the defec '-'ﬂlgaﬁhild is suffering from. State two causes of this de

ow how it can be corrected.
ze, is placed 25¢cm in front of a concave
om the mirror should a screen be place

am to show the formation of image in this case. (5)
| OR |
is of a spherical mirror.

k- _:abject Draw the ray diagram.
) An obj 1! '_ at the ?Istance of 6cm in front of concave mirror of focal (

™ atering of light by the colloidal particles give
1 als :‘,be, observed when sunlight passes through 2

-«‘ 0§ aa‘tt'ering of light? | Q)
~ b) air molecules
?). homogeneous transparent Ilquld
> an astronaut? ‘ @' ;



(SECTION-B) (CHEMISTRY) (25 MARKS)

1. Which is true about oxidation |
a) it involves addition of oxygen b) it involves removal of hydrogen
c) itinvolves loss of electron d) all are true
2 Farmers neutralise the effect of acidity of the soil by adding. (1)
a) slaked lime b) gypsum
c) caustic soda d) baking soda
3. Which one of the following metal does not react with cold as well as hot water? (1)
a) K : b) Ca
c) Mg d) Fe
4. When zinc metal reacts with sodium hydroxide solution on heating the gas evolved . (1)
~a) Tums lime water milky b) supports combustion
 c) burns with a pop sound d) has a pungent order
&‘:?w’ﬁ; A solution has pH value 5. To this solution 1 ml of dilute hydrochloric Acid is added. Now
~ the pH of the solution will be , (1)

~a) more than 5 b) less than 5

Q) monly ' d) the same only
emically (1)

b) Hydrated ferric oxide

. d) none of these

i iluminium sulphate to give aluminium chloride and a

| (1)
nto a balanced chemical equation.
he above reaction can be purified.

'mind while balancing a chemical equation.
ss occur simultaneously. Justify the statement with the

 acid conduct electricity? (1)
e hydrochloric acid to sodium bi carbonate

»rb moisture and turns sticky. The compound
emical name and formula of 'X'. Describe
tion. Name the type of reaction that
Acid. Write the chemical equati’oﬁ‘. (3)

(@)%




i) Name the metal E. . : e
ii) Wite the chemical equation (o the reaction when it is exposed in ar and uhes B
product is dissolved in water. @
11.a) Write the chemical reactions taking place when
i) Manganese dioxide is heated with Aluminium Powder.
ii) Steam is passed over red not iron.

iii) Magnesium reacts with hot water. i
b) The oxide X,0, is unaffected by water. Explain a method by which metal X can be
7 3 (&au |

obtained from its ore. ‘
12.The reaction between carbon dioxide and i
dioxide to produce salt and water. Since this is similar to

=i R ey o, gy y 2 e e
~ an acid, we can conclude that nonmetallic oxides are acidic |
questions :

me water which is abase, it reacts with carbon
the reaction between a base & d

n nature.

bove paragraph answer the following

1l ature of carbon dioxide?
r reaction of non-metallic oxide and a base.
ete reaction between calcium hydroxide and carbon dioxide with h

b) Water in the guard-cells
d) Concentration of CO, in stomiitaYﬁ '
becomes rich in ; I
b) Haemoglobin N
d) Oxygen




vi) In the questions given below, two statements are given, one is Assertion and B ol
is Reason. Choose the correct answer to the question from the codes A 8 C anad D
Assertion - Intelligence and memory are located in fore brain.

Reason - Centres of speech and sight occur in mid brain
(A) (B)
(C) (D)

vii) Assertion - Carpel is present in the centre of the flower.

Reason - It gets pollinated by direct contact with the stamens.

(A) | (B)
- © | (D)
1% Answer briefly to the following questions. (2x4)

3:‘4'*'.' i) a) What is the function of glomerulus?
~ b) On what two factors selective reabsorption of water takes place in tubular part of
O ;'Irf. nephron.
i) Give the function of
Aorta _ ' b) Pulmonary artery
’ d) Vena Cava
between reflex action and walking.
s showing binary fission in amoeba.
(2%3=3)
sen aerobic and anaeraobic respiration.
OR
ing enzymes in digestion.

hen adrenaline is secreted into the blood.

llowing questions.

"a plants coiling around the support and help

are tendrils. A young tendril performs circular

t with a support, it coils around it. The coiling is
n in the region of contact and concentration of

 a tropic movement in response to stimulus of







